This report contains the transfers results.

Contest Name	Ward 7 - Shetland South
Valid Votes	1.842
Positions to be Filled	4
Quota	369

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Alex ARMITAGE	Scottish Green Party	274
Stewart DOUGLAS	Independent	46
Allison DUNCAN	Independent	805
Robbie MCGREGOR	Scottish National Party (SNP)	217
Bryan PETERSON	Independent	500
	Total	1,842

Candidate Allison DUNCAN Elected with 805 votes, being in excess of the quota of 369 Candidate Bryan PETERSON Elected with 500 votes, being in excess of the quota of 369

This report contains the transfers results.

# Stage 2 - Surplus of Allison DUNCAN

436.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alex ARMITAGE	95	0.54161	51.45295
Transfer to Stewart DOUGLAS	228	0.54161	123.48708
Transfer to Robbie MCGREGOR	202	0.54161	109.40522
No further preference	280	0.54161	151.65080
Not transferred due to rounding			0.00395
	Total		436.00000

This report contains the transfers results.

# Stage 3 - Surplus of Bryan PETERSON

131.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alex ARMITAGE	133	0.26200	34.84600
Transfer to Stewart DOUGLAS	106	0.26200	27.77200
Transfer to Robbie MCGREGOR	145	0.26200	37.99000
No further preference	116	0.26200	30.39200
Not transferred due to rounding			0.00000
	Total		131.00000

This report contains the transfers results.

# Stage 4 - Exclusion of Stewart DOUGLAS

197.25908

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alex ARMITAGE	20	1.00000	20.00000
Transfer to Robbie MCGREGOR	3	1.00000	3.00000
Transfer to Alex ARMITAGE	35	0.54161	18.95635
Transfer to Robbie MCGREGOR	54	0.54161	29.24694
Transfer to Alex ARMITAGE	22	0.26200	5.76400
Transfer to Robbie MCGREGOR	19	0.26200	4.97800
No further preference	23	1.00000	23.00000
No further preference	139	0.54161	75.28379
No further preference	65	0.26200	17.03000
Not transferred due to rounding			0.00000
	Total		197.25908